FUOLE

Florida Department of pate in 7/3/2019

Law Enforcement

INSTRUMENT PROCESSING SHEET

Agency Gainesville PD

s/N 80-006384

DI CompletionDate _7/7/i 7 ®ship Qp/u QH/D QoM QEE

Intake Performed By @_ﬂf} Quality Checks Performed By 734 Flow Calibration Performed By
Annual bd Breath Tube Screen Flow Column #
U Registration & Replace External O-Rings Q 5L/min - 17mm
Q Return from CMI / EE & Instrument Set Up Verified Q 15L/min = 53mm
Nieiia] et .E R-Value /75 3 30L/min —103mm
@ Case @ Handle /ﬁFlow Verification (L/s) O R-value
@ Kevboard @ Drv Gas Shelf Flow Column # _47//0 2 0 Post Calibration Verification (L/s)
y Y
@ Feet Breath Tube 32mm_./¢7 (.139-.169) | Flow Column #
@ Ports @ Screws Tight 36mm_. / 7?_ (.156 -.190) 32 mm (.139-.169)
S3mm_. 25¢ (.228 - .278) 36 mm (.156 - .190)
Other Equipment/ Accessories: 103mm _, 507 (.447-.547) | 53 mm (.228 - .278)
@ Power cord O Printer Cable & Barometric Pressure Check 103 mm (.447 - .547)
4 Static Bag 0 12V DC Cable Gauge ID#_2 5927
Notes: [ Stability Checks Maintenance Performed By
Simulator | Serial # Lot #/Exp U Battery Replacement
. — U Dry Gas Regulator Replacement
H050 sprerys ‘32};::/';;,) [ Breath Tube Replacement
Final Release Date 0.080 . 2 | 2a6r707E O Other
FDLE ' sD2962 e Temperature Checks Performed By 75
X Lab Temp °C 2004
. 0.200 GCRO7E | L8t70 2< External Digital Therm. ID#: f003505~
JuL 09 M 7/24/17 B 34°C+-2 Serial #: Sp2/F
& " =
Alcohol Testing || 00058 | MA - BCHETEl | Baarc-2 seralh 20 3Wd
Program 7 ’ ’
Calibration Adjustment Performed By _ 734 Department Inspection Performed By _ 734
Barometric Pressure Gauge /o // ID#_ 30795 Barometric Pressure ID# _2Z T¢ £.2
Simulator Serial Number | Lot Number | Expiration Gauge /o[ 2 Instrument __ /0 /&
0.000 sD/0/6 N/A N/A Mouth Alcohol Solution Lot # __2¢ /& ~£
0.040 /022 /908D 3/-{/;: Ac?tone Stock Solution Lot # .201.2”'3
0100 ) L 5 =7 Simulator Serial Number
spz964 |/ E200 |7/3/20 e T,
0.200 Spro2s” 119090 |1/2% /o) Interferent G Ged]
0.300 sore2 1 glo '{/,/z,/,?o 0.050 Spror sy
0.080 DGS | N/A Y781 71 50A  F/5/19 0.080 $P39¢.2
™ Post Calibration Adjustment Stability Checks 0.200 (G207%
Simulator Serial Number | Lot Number | Expiration AW achiments
2950 5 blot¥ 201707 D 7/23"/' 7 @ Form 41 /& Post-Stability Checks
0.080 SD2962 2e,707E | /25019 ® Stability Checks Q Flow Calibration
0.200 G207 F 201767 | 7vf R Calibration Certificate O Form 40
0.080DGS | N/A A Tesol | ohv/2 B Calibration Adjustment Q Other
Notes/Suggested Service: ﬂ Instrument Complies with Chapter 11D-8, FAC
O Instrument Does Not Comply with Chapter 11D-8, FAC
& Return to/Place into Evidentiary Use
0O Remain Out of Evidentiary Use
N Conduct an Agency Inspection Before Evidentiary Use
Qo 2/efis NI e[l
Tech Review / Date U Admin Review / Date

FDLE/ATP Form 48 January 2018
Issuing Authority: Alcohol Testing Program

PRINTED COPIES UNCONTROLLED
For Internal ATP Use ONLY
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Florida Department of Law Enforcement
Alcohol Testing Program

DEPARTMENT INSPECTION REPORT - INTOXILYZER 8000

Agency: GAINESVILLE PD Serial Number: 80-006384
Time of Inspection: 12:31 Date of Inspection: 07/09/2019 Software: 8100.27

Check or Test YES NO Check or Test YES NO
Diagnostic Check Date and/or Time Adjusted

(Pre-Inspection): OK Yes No
Minimum Sample Volume Barometric Pressure Sensor

Check: OK Yes Check: OK Yes

Alcohol Free Subject Mouth Alcohol Test:

Test: 0.000 Yes Slope Not Met Yes

Interferent Detect Test: Diagnostic Check

Interferent Detect Yes (Post-Inspection): OK Yes

Alcohol Free 0.05g/210L Test 0.08g/210L Test 0.20g/210L Test 0.08 g/210L

Test (g/210L) (g/210L) (g/210L) Dry Gas Std Test
(g/210L) Lot#:201707D Lot#:201707E Lot#:201707C (g/210L)

Exp: 07/25/2019% Exp: 07/25/2019 Exp: 07/24/2019 Lot#:AG916501
Exp: 06/14/2021

0.000 0.049 0.082 0.202 0.080

0.000 0.050 0.082 0.203 0.080

0.000 0.050 0.082 0.204 0.080

0.000 0.050 0.082 0.204 0.080

0.000 0.050 0.083 0.203 0.080

0.000 0. 050 0.082 0.204 0.079

0.000 0.050 0.082 0.204 0.080

0.000 0.050 0.082 0.203 0.079

0.000 0.050 0.082 0.204 0.079

0.000 0.050 0.082 0.204 0.079

Standard Deviations | 0.0003 0.0003 0.0007 0.0005 I
Average Standard Deviation of 0.05, 0.08 and 0.20 g/210L Tests: 0.0004 Number of Simulators Used: 5 :D& |}\i\
Remarks: =
The above instrument complies ( X ) does not comply ( ) with Chapter 11D-8, FAC.

I certify that I performed this inspection in accordance with the provisions of Chapter 11D-8, FAC.

‘/_fvﬁc‘%r/ké)‘: '/J(/ BRETT H KIRKLAND

Signature and Printed Name

07/09/2019 /]\O\\\C\

Date /ﬁ/

FDLE/ATP Form 41 —Revised August 2005
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GRINESUILLE PD

Intoxilyzer - Rlcohol Analyzer
Model 8000
07,08/2018

Auto Calibration
Max Power Res Uzlue = 78
Auto Range Res Ualue = 55

Sol Ualue = 0.000 g/210L #xx

Fit ualue = 0.0000 mg/1 %4%%

Samples Taken = 4, Discarded = |

3um To = 12857, 9um lo = 13229
<«€<<< (HANNEL | »»»»

Sample %Rs (% ADs Ref)
Sample #1 = 0.0600  (-0.0060)
Sample #2 = 0.0430 (001807
Sample #3 = 0.0710 (0. 014D]
Sample #4 = 00820  (0.0260)
fug % Abs = 0.0653 (0.0187)

STD OEU = 0,0200 (0. 0060:

REL STD DEU = 30.778 (30.643)

<< [HANNEL 2 »»»

Sample % Abs (% Rbs Ref)
Sample #1 = 0.1540 - (=0.0040)
Sample #2 = [.1620  (-0.0090)
Sample #3 = 0.1580 (-0.0070;
Sample #4 = 0.1370 (0.0080)

fug % Abs = 0.1523 (-0.0032)
STO DEV = 0.0134 (0.0081)
REL STD DEU = 8.815 (244.336)

S0l Ualue = 0.040 g/210L #xx
Fit value = 0.1905 ng/1  %2%%
Samples Taken = 4, Discarded =
3um [0 = 12848, Sun lo = 13227
<<<<< CHANNEL 1 »>»»>»

Sample %Abs (% Abs Ref)
Sample #1 = 0.7470 (0.0000)
Semple #2 = 0.7930  (0.0000)
Sample #3 = 0.7880 (0.0050)
Sample #4 = 0.7470 (0.0310)
Aug % Abs = 0.7760 (0.0120)

STO DEU = [.0252 (0.0186)
REL STO DEU = 3.252 (138.694)

<€<<< [HANNEL 2 o>
Sample % Aps (% Abs Ref
Sample #1 = 1.5530 (-0.0040;
Sample #2 = 1.5770  (-D.013D)
Sample #3 = 1.5730 (-0.0120

Senple #4 = 1.5480  (0.0010)
Aug % Ros = 1.5660 (-0.0080)
STD DEV = 0.0157 (0.0078)

REL STD OEV = 1,004 (97.628)

SN 80-006384
0%:40:46

Sol Ualue = 0100 /2100 sxs
Fit value = 0.4762 ngs1 2312
Samples Teken = 4, Discarded = |
3um To = 12892, 9um 1o = 1325
L CHANNEL | »o59»

Sample % Ads (% Rbs Ref)
Sample #1 = 1,880 (-0.0120)
Sample H2 = 1.8580  (-0.013)
Saple #3 = 18480  (-0.0010)
Saple #4 = 18040 (0.02:0)
AUg % Rbs = 1.B367 (D.0027:

STD DEU = 0.0287 ¢0.0178)
REL STD DEV = 1.564 (666.%6)

< CHONNEL 2 oo

Szmple % Ads (% Rbs Rer)
Sample 4] = 3.623% (0.0110)
Sample #2 = 36440 {-0.0070)
Sample #3 = 36500 (=0.0010
Sanple #4 = 3.5150 (0.0060)
RUg % Abs = 3,633 (-0.0007)
STDDEV = 00187 (0.0065)
REL STD DEU = 0,515 (975.961)

S0l Ualue = 0,200 g/210L #xx
Fit ualue = 0,952 me/l %auk
Sanples Taken = 4, Discarded =
3m 1o = 12840, 9um Io = 1320
e CHANNEL | s3>

Sample % fbs (% Abs Ref)
Sample H = 35150 (-0.011D)
Sample #2 = 34880 (0.0260)
Sample #3 = 35060  (0.0190)
Sample B4 = 3.5180  (0.g190)

Aug % Abs = 3,5033 (0.0213)
STODEU = 00162 (0.0040)
REL STD DEU = 0.451 (18,944)

<K< CRANNEL 2 >0

Sample A Rbs (% Abs Rer)
Sample #1 = £.8380  (-.0p9)
Semple 82 = B.3410  (0.003m)
Sample #3 = 6.8560  (-0.0021)
Sanple #4 = £.8760  (-0.0070)

Aug % Rbs = 5.8610 (-0.0020)
STO DEU = 0.0180 (0.0050)
REL STD DEU = 0,263 (250.000)

501 Ualue = 0.300 g/210L #xx
Fit ualue = 1.4286 mgs1 %72
Samples Taken = 4, Discarded = |
3um fo = 12638, 9um fo = 13220
<< CHANNEL 1 >0

Sample % Abs [% Abs Ref)
Sanple #1 = 51340 (-0.0080)
Sample #2 = 51030 (0.0300)
Sample #3 = 5.1480  (0.0190)
Sample W4 = S5.1080  (0.0430]

Aug % Rbs = 5.1197 (0.0307)
STD DEV = 0.0247 (0.0120)
REL STD DEU = 0.482 (39.176)

<< CHANNEL 2 >

Sample % fbs (% Abs Ref)
Sanple H#] = 9.8820 (-0.0290)
Sample #2 = 9.8720 (0.0060)
Sample #3 = 9.9060 (0.0030)
Sample #4 = 9.8100 (0.0140)

fug % Rbs = 9.8360 (0.0077)
STODEV = 0.0208 (0.0057)
REL STO DEU = 0.211 (74.168)

rixxx QUT0 CAL DRTE seesx
<<<< CHANNEL | oo
501 Ual = 0.0000 mg/1 or 0,000 g/210L
Y Abs = 0,065
Std Dev = 0,02 Rel Std Dev = 30.78
Sol Ual = 0.1905 ngr! or 0,040 gr210L
Tz, 0.776
StdDev= D.03Rel StdDev= 3.5
5ol Ual = 0.4762 mg/1 or 0,100 92100
%Aps = 1L8%
Std Dev = (.03 Rel Std Deu= 1.5
S0l Val = 0.9524 ng/1 or 0.200 g210L
%As = 3.503
Std Dev = 0,02 Rel StdDeu= (.46
So! Ual = 1.4285 mgr1 or 0,300 gr210L
YA = 5120
Std Dev = 0,02 Rel Stg Deu = 0.48
Zero Orger Coef = -170.15
First Order Coef = 2627.03
Second Order Coef = 38.59
Standard Deviation = 15.986573
<<<<< CHANNEL 2 >»»>»
Sol Ual = 10,0000 mg/1 or 0,000 g/210L
Tobs = D152
Std Dev = D.01 Rel Std Deu = 8.82
Sl Ual = 2,1905 rg/] or 0.040 g/210L
TAS = 1566
StdDevu= D0.02Rel StdDev= .00
S0l Ual = 0.4762 mg/1 or 0.100 gr210L
YAbs = 363
Std Dev = 0.02 Rel Std Dev = 1051
Sol Ual = 0.9524 mg/1 or 0.200 g/210L
TRs = 6.8l
StdDeu= [D.02Rel StdDev= 10.26
Sol Ual = 1.4286 ng/] or 0.300 g/210L
JA5 = 9.8%
StdDeu = 0.02Rel Stdleu= 10.2]
Zero Order Coef = -194.9]
First Order Coef = 1309.01
Second Orger Coef = 15.59
Standa~d Deviation =  8.015811

+ Solution Stats Quadratic Fit Chan |

Rt Fit Residual :

CgRlll gl gr210L ;

v 0,000 .000 -0. 0000 :
.04 .04 0.0003 |

V01000100 -h.oos .
p0.2000 0200 0.0004 :

C0.300 0,300 =0.000]

© Solution Stats Quadratic Fit Chan 2 !

| Rct Fit  Residul J
LgRlll g2l Rl :
L0.000 D00 -0.0000 ;
0040 040 0.0002 ‘
P00 0000 -0.0002 :
L2 0.2 0.0001 :
P03 03 -0.0000

S0l Ualue = 0,080 g/210L #xx

Fit uzlue = 0.3810 mg/1 #uzx

Samples Taken = 4, Discarded = |

xxxnk CHANNEL |

Sample #1 = 3334.00

Sample #2 = 3346.00

Sample #3 = 3372.00

Semple #4 = 3271.00

Ruerage Result = 3329,6667

5T DEV = 52.4436

REL STD DEU = 1,575

XXEXERLRAR

wrexx (HANNEL 2

Sanple #1 = 3403.00

Sample H2 = 3395.00

Sample #3 = 3383.00

Sample #4 = 3382.00

Ruerage Result = 3386.6657

STD DEU = 7.2342

REL STD DEU = 0.214

EXXXXEXLXL

Ory Gas He0 Adjust Results sexxxexsx
Baronetric Pressure = |]]]
3 Un H20 Rajust (mng/1x10,000) = 480
8 un H20 Adjust [mg/1x10,000) = 423

wxxx AUTO CAL PRSS

cel Eg>‘3-(\ C:\ﬁ\ <j16k"
2§7<) ~0 0O 63 éF-L1
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7/€ [19 /I\O‘\\C\
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